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One of the ways in which man differs from other
mammals is: _

A - Man is viviparous

B Man is homoithermic -

C Man has an erect posture

D Man has ears with pinnae.

Which of the following transport methods is

involved in the movement of water through cells?
" A absorption C

Osmosis
Active transport
Facilitated diffusion.

OOw

The tissue found lining the upper respiratory tract
is known as:

A Ciliated epithelium

B Pavement epithelium
C  Cuboidal epithelium
D Columnar epithelium.

Identify the stage of cell division fepres'ented in
the diagram below:

centriole

spindle fibres

chromosomes
atlached to
equatorial regior

nuclear membran:
disappears

Courtesy Don Mackeans,
Human and Social Biology ™

A Prophase

B Metaphase

C  Anaphase

D  Telophase
The tough membrane surrounding each bone js
called:

A Tendon

B Synovial
C  Periosteum
D Cartilage
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6. What type of muscle brings about movement of
the forearm
A Involuntary
B ° Smooth
C’ Voluntary ;
D  Unstriped. i
7. When the ligaments in a joint are misk
called a: \
A Dislocation ~
B Fracture

C .Sprain
D  Complicated fracture

8. Identify the reflex that was studied by the Russin!
biologist Pavlov using dogs.
A Reflex action
B Conditioned reflex
C Cranial reflex
D Salivation reflex

9. What adjustment would be made by the lens and
ciliary muscle for the eye to see a near object?
A Ciliary muscles contract, lens becomes
thin

B Ciliary muscles relax, lens remains the
same
C  Ciliary muscles relax, lens becomes thick

D  Ciliary muscle contract, lens becomes
thick

10. The resting potential of a neurone is achieved wher
A The inside of the neurone is negatively
charged while outside positively charged

B The inside of the neurone is positively
charged while outside negatively charged

C  Sodium ions are transported into the
neurone

D

The charge on the inside and outside of t
neurone is balanced.

1. Identify the exocrine gland listed below:

A Pituitary gland
B Adrenal gland
C  Gonads

D Sweat gland

12.

Hormonal coordination differs from nervous

coordination in what way?
A Hormonal response is localized
B Hormones are carried by blood

C  The effects of hormones are short lasting]
D Hormones are electrochemical. !

—
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um giuret’s reagentis |
10 test for which of the following

bs[anccs?.
: Proteins )
"' Carbohydrates
Fats and oils

[ 4 Mineral salts o

m equation below that summarizes the
ess of photosynthesis.
CH1nOs + 602 = 6CO2+ 6H,0 + 2880KJ
¢,Hn0s — 2C2HsOH +2CO;z + 105K)
6CO; + 6H20 — C¢Hi206 + 60,
C4HnOg + 402 — 6CO, + 6H,0 2880K)J

¢intake of food through the mouth is known

\ Swallowing
j Ingestion
: Digestion
) Mastication

fich of the following nutrient component could
stprevent development of a goitre? .

{  Fresh milk - ' o

b lodised salt

( Vitamin C

) Calcium rich meal.

atify the form of stored energy which is

dily available for use by the cells of the body:
| ATP

I Glycogen

. TFats

I Glucose

3

moglobin-is wel [ suited-to-its-function 0

lien transport because: |
It combines reversibly with Oxygen
It is insoluble in the blood plasma
It is biconcave in shape

It is casily converted to oxyhaemoglobin.

V ey . .t . ..
ypical characteristic of all arteries 1s:

Transport oxygenated blood .. °
Have valves to prevent backflow of blood

Transport dcoxygeux;ged_blood
Have thick walls. ‘
/4—”_;’_’_
mwe prevents blood from moving from
» *right ventricle to the right atrium during
" lole?
Bicuspid valve
“Tendon-supporting value
Pocket value
i Tricuspid valve

\___,__—_'_’______’———’—’_—_—_
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21, I i e
B When blood glycor, ISYEL i5 oy
C Wheet ood glycogen level varies
5 When blood glucose level is high
' en blood glycogen level is high
2. ::::'ceeb:md supplying a cell becomes very
A ntrated, what would happen to the cell?
Burst
B Losesalts
C  Become turgid
D  lose water
23 What is the name given to the smallest functional
unit of the kidney? ;
A Bowman’s capsule
B Nephron
C Capsule
D  Loop of Henle
24. What causes untra filtration in the kidney. .
nephron?
A Blood pressure
B  Diffusion
C  Osmosis
D . Water potential
25. Old red blood cells in the body are destroyed
chiefly in which pair of organs?
A Kidneys and lungs
B Liverand lungs
C Kidney and Spleen
D Liverand Spleen
26. A specific defense against pathogens in the body
1S:
A  Tears
B  Antibodies
C  Antigens
D Mucus
27. Choose Lhe type of proteins that stimulate the-
production of antibodies:
A Antitoxins
B  Antibiotics
C  Antigens
D Globular proteins,
28. The type of immunity which occurs when an

individual develops his own antibodies against a
specific germ is known as:

A Atificial passive immunity

B Artificial active immunity

C  Natural passive immunity

D  Natural active immunity

" Go on to the next page
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The male and female gametes are similar in that:
A Both are haploid
B Both are produced by mitosis
C  Both are non-motile
D  Both are motile

30.  The organ in the female reproductive structure
where implantation occurs is:
A Stomach
B Uterus
C  Ovary
D  Fallopian tube
31, Which of these methods of birth control is the
most efficient?
A Coitus unterruptus
B Billings method
C  Abstinence
D  Useofcondom
32, The human foetus obtain nutrients through the:
A Uterine wall
B Umbilical vein
C  Umbilical artery
D  Blood plasma.
33. Choose the structure that stores sperms in males:
A Epididymis
B Vasdeferens
‘C  Seminiferous tubule
D  scrotum
34, Two parents of blood group A have a daughter of
blood group O. What is the probability:that their
next child will be of bloed group O:
A 0%
B 25%
D 7%
35. Aterm used to describe the different forms of the
same genes is:
A Alleles
B Chromatids
C  Phenotype
D Chromosomes
36.

Sickle cell anaemia is caused by:

Sickled-shaped red blood cells
Gene mutation

A_changed chromosome number
Dietary deficiency

oQw>
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37 Damp-proof course helps to prevent risip,
in walls. It is made up of:
A Permeable material
B ~ And cement

C  Impermeable material
D  Concrete and gravel

g daI'T\p

Go on to the next page

38.  Select the major cause of cutrophic*aFnin\;ater

bodies: : s

A . Shortage of oxygen in water

B Fertilizers washed in from farmlangs

C  Pesticides from farmlands '
D  Effluent from sewage plant |

39.  Identify the importance of first aid trcﬁﬁﬁam ‘
the options given below:

>

Prevents the patient from dying
B Replaces treatment

C  Facilitates diagnosis

D  Stabilizes the victim

40, Select the source of water below that is relatively
pure and clean:
A Rain water
B Fast flowing river
C  Stream '
D Deep well

41. The following may be consequences of poorly
planned town ‘
i) Increased crime wave, ii) Rapid spread of
diseases, iii) Increased alcohol consumption
Select thie corréct set of option(s):

A i, il and iii
B i and ii
C  iiandiii
D ionly
42. Which of these natural fibres is good for making
sportswear? '
A Silk
B Linen
C Cotton
D  Terylene

. n T 9
43, What is the function of a metal flange ina hOUS‘"

A Prevents rising damp
B Prevents entry of rats
C  Improves ventilation

D Improves insulation 4
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£ lement which may b altel = —aied water 47, ﬁ\nfézlgov:}:;g;a::::mdmduals to be inan
o prevent dent?l decay is: A Sedative ’
A Magnesium B  Stimulant
! B Fluorine C  Hallucinogens
. ¢ Calcium D  Depressant
p Chlorine
T T 48. Where do pregnant women g0 for regular medical
The time betwecen infection and the first check up?
appearance of disease symptoms is called: A Ante-natal clinic
A Infective period B Postnatal clinic
B Quarantine period C  Hospital
Cc  Incubation period D  Maternity
D Convalescent period
49. A specialist doctor who attends to sick children is
Select the organism that is responsible for food called:
poisoning in man: A  Pediatrician
A Plasmodium B  Dietician
B  Salmonclla C  Obstetrician
C  Roundworms D  Gynaecologist
D Virus _

50. Enzymes are biological catalysts that regulate the
rate of reactions in the body. Low temperatures
would:

A Denature enzymes
B  Activate enzymes
C Increase the speed of enzymes
D  Affect the pH of enzymes
STOP
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